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Integer —2
1. Which number is larger from the following pair?
-7and 4

2. Which number is smaller from the following pair?

-125 and -75
3.0__ -35
a) < b) >
c) = d) None of these

4. Write all integers between -4 and +4.

5.-236 -245
a) > b) <
c) = d) None of these

6. Write the following integers in ascending order.
0,7,-8,5,-4,2,-15

7.|-36|=

8. Write the following integers in descending order.
7,0,-9,-15, 155, -95

9. Zero is larger than any negative integer, mark True / False.

10.8-|-4|= .
11.|7-9|=
12.-|-25|:

13. Zero is not an integer, mark True / False.
14. The absolute value of an integer is always less than the integer. Mark True / False.

15. What is the largest negative integer?
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